Crack the Code | Large Numbers in Standard Form

A 60000 =6x100 | B 800000 =(38]x 105

c| 3x102=(300] | D | 2000000 =2x 10"

E | 34000 = 3.4 x 1000 | F| 9% 10% =(9000)

G| 12x10°=[1200 W  760=76x10%

1 —
I | 4270000=427x108 |3 | 79x10'=

K 8x10°=[38] L| 3.14 x10% =(314)

M| 6540 =654x102 |N| 58=58x10Y

P 30><102:3><10 Q 1.09><103:

R 8.7 x10°=(87]x10° s | 148 x 102 =[4§x 10°

T 6.65x102=665x107 | U | (129)x 10% = 129000

Add together all your answers and divide by 100
to give the three-digit code. 124




